A 07-23-09

Reminders 07-23-09:

- Read Chapter 6 and 7; (make sure you

thoroughly read through the chapters we
cover)

- Volunteers for Mr. Randall 2PM S-105

- Sth Webassign due Thursday 11:539PM

- Hand in 4th Assignment Problems Today

- Exam 3 Chapters 6-8 Next Thursday

Objectives:

- Uniform Circular Motion
- Centripetal Acceleration
- Centripetal Force

- Gravitation
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* A projectile is launched froma 91 m
high cliff at an angle 37° above the
horizontal. The initial velocity is 35m/s.

— Draw a picture that is representative of this
problem.

— How do you calculate the time of flight?
— How do you calculate the range of the
flight?

— How would you calculate the velocity of the
projectile when it hits the ground below?
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Note: Av points toward the
center of the circular path.

Note Av/v=As/r=vAt/r if At is very small %, .
Rearranging, this yields Ny, -
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- A satellite is in a circular orbit 5.0x10'km
above the Earth’s surface. It makes one
revolution in 1hr and 35 minutes. What is the

centripetal acceleration of the satellite? What
if the orbit is geo-synchronous?
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* A 0.12 kg object attached to a string
is whirled in a horizontal circle
whose radius is 0.75m. The velocity
of the object is 3.0m/s. What is the
centripetal acceleration and the
force acting on the object?
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An automobile is rounding a turn of constant radius
of curvature. A passenger notices that the arm rest is
pushing toward the center of the turn with a constant
force. The passenger has a mass of 78 kg. The force
of the armrest on him is 150 N. The forward speed of
the automobile is 21 m/s.

— What is the acceleration of the car?

— What is the radius of the turn?
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Consider the following scenerio.

The masses are moving in a circular path.
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- Consider the system below
— Draw arrows indicating the direction and the

magnitude of the gravitational force acting on
each object.'_!_‘
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» A 900 N person goes to a planet whose
mass is twice that of the Earth, and whose
radius is three times that of the Earth. What
will the person’s weight be on this planet?
What about the person’s mass?
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* A spacecraft is between the Earth and the
moon. Where in between the Earth and the
moon will the net force on the it be equal to
zero?
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What is the force on m, if M=2.0kg, a=0.5m, and

M _X—Tx = X’-LX
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